Math Numbers and Operations 4_6

Student Name:

1.
nickel =5¢
How many nickels are in 15¢?
3.
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Which is here?
A. 0.65
B. 0.75
C. 0.55

Date:

2.
About how much pie is gone?
1
A -
3
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1
C. >
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Bob pays $5.00.
He gets ___ back.
A. $1.00
B. $0.50

C. $0.75



0.5 & 1.5 2
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Which is here?

B. Slugger Sue
C. Lefty Louis

5.
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5T —
A. 0.35
B. 0.66
C. 0.60
7.
Batting Averages
Name Average
Lefty Louis .236
Slugger Sue .309
Billy Bunter 217,
Henry Homer .368
Who has the 3rd highest average?
A. Billy Bunter

A 1.2

B. 1.0

C. 0.6

8.
Tim has $10.00.
He spends $6.00.

Then he spends $3.50.

How much is left?

A. $1.00

B. $0.75

C. $0.50



Jane has $9.00.
She buys a snack for $3.75.

How much does she get back?

A. $5.75
B. $5.25
C. $4.00

1.

Which is closest to %

A. 0.666
B. 0.500
C. 0.333

10.
A B c
Which gray part is 0.25?
C.
12.
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Which is here?

0,000 0.125 0.250 ﬁ 0.500 0.675 0.750 0.875 1.000

A. 0.275
B. 0.375
C. 0.425




13.

Batting Averages

Name Average
Lefty Louis 236
Slugger Sue .309

Billy Bunter 217

Henry Homer .368

Whose average is closest to .37

A. Slugger Sue
B. Lefty Louis
C. Billy Bunter
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16.
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Which is here?
A. 04
B. 0.8
C. 0.6
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